PRELIMINARY EXAMINATION
MATHEMATICS

2006

Name :

Date :22 Ati:gust 2006 Duration : 2h 15 min

Class: P6 _ Index No:

Instructions éto pupils:

1. Do not opén--this booklet until you are told to do so.

2. This paper consists of 3 parts; Section A, BandC.

3. Write your; Name, Class and Index number clearly on al the booklets,

4. For question 1 to 15 In Section A, shade the correct oval on the Optical
Answer Sheet (OAS) given.
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Name: ()

Section A (20 marks)
Question 1 to 10 carry 1 mark each,
Question 11 to 15 carry 2 marks each.

For each question, four options are given. One of them is the correct answer.

Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4) on the
Optical Answer Shest {OAS),

1.

Which one of the following numbers is the greatest?
(1) 100011
(2) 100,101
{3) 101/001
(4) 101010

2. 99x99%99x9+99+99x[:]

What is the missing number in the box?
(1) 9

2y 10
(3y 89
{4) 20

—_—

3. 500 + 2tens + 0.2 + 2 thousandths =

(1) 500402
(2) 520.202
(3) 520.220

(4) 5204400

Class: P6



Express 80 m 5 cm in centimetres.

(1) 805
(2) 850
(3) 8005
(4) 8050

The ﬁgu're below is made up of nine identical squares.
What is the perimeter of the figure?

(1) 486m
(2) 80cm
(3) 108:cm

(4) 180'cm

The diameter of the Earth is about 12 758 km.

Round oﬁf its diameter to the nearest hundreds., .

(1) 12 700 km
(2) 12760 km
(3) 12800 km

(4) 13000 km

2



7. What fraction of the figure below is shaded?

M 3
@ 3
@) 1—%

8. Express; 35_% as a decimal.

(1) 0.28
) 0.8:2
(3) 3.28

(4) 3.82

Xiu Fang and her brother consume 100 i/ of milk each every morning.

How mahy litres of milk will both of them consume in 2 weeks?

(1) 14y
(2) 281
(3) 14/

(4) 28/



10.

1.

Study the shapes below carefuily.

identify‘the shapes which cannot be tessellated.

(1) AandB only
(2) C eind D only
(3) B and C only

4y B,CandD only

The figure below is made up of 5 semicircles.

AB:BC:CD DEis2:3:1:4. Find the perimeter of the shaded part.

!
(Take = io be 2-{.—2)

(1) 44 cm
(2) 88 Cm
(3) 3085cm

(4) 616.cm

R



12.

13.

The line graph below shows the extension of a spring when various
masses (P, Q, R and S) are hung on it.
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What wiil? be the extension of the springif R and S are hung on it?

(1) 12em
(2) 16 cm
(3) 20cm

(4) 24 Cm

In Town A 75% of the pupils had watched “Spider Man 2", 45 % of the
pupils had watched “Superman Return” and 30% of them had watched

both mo»}ies. if 10 pupils did not watch both the movies, how many
pupils areéz there in Town A?

(1) 20
(2) 25
(3) 100

(4) 160



14, A snail was climbing out of a wel| which is 4 m

15.

deep as shown in the
diagram below.

The snail could only climb up 2 min the first 40 minutes, and would slide
0.5 m back for the next 20 minutes. How lon
reach the top of the well?

g would the snail take tgo

(1) 80 minutes
(2) 140 minutes
(3) 160 minutes

(4) 200 minutes

in the diagram below, ABCD is 4 rectangle. DE, CE, DF, FC and GH are
straight lines. Given that GO - OHis 1:

3, find the ratio of the area of
ABCD to DFC to DOC.

Ap—E % E B
0
D N C
{nm 6:3:;1
(2) 6:3:2
(3) 8-4:1

4y 8:4-3

[ End of Section AlJ
5



Name:

B G Class: Pg

Section B: (30 marks
Question 16 to 25 carry 1 mark each.
Write your answers in the sSpace provided.

For questions which require units, give your answers in the units stated.

16.  Study the number patterns carefully. What js the missing number?

45899 || 45 999 @ 46 199

Answer:
_
. : 4 3
17. Find the value of 15 X g-
Answer:
—_—
18, Whatis g of 6.47
Answer:
_—

19. The actual time now is 12 noon.

The clock:shown below is hour slower.
!




20.

21

22

What is the volume of a cube of edge 7 cm?

Answer: cm’®

The bar graph shows the number of visitors to Sentosa from 2002 to

2005. How many visitors were there in 20047

A -
Number of ;30 S
visitors to ; e T I S N N
Sentosa 520_
(in thousands),
10~
0

2002

2003 2004 2005

Year

Answer:

The diagrams below show two different orientations of the same cube.

The letters or‘ti the faces of the cube are A, B, C, D, E and F.

=

E

=
<<

The letter that is opposite to the face of the cube that is marked B is

Answer:

=¥



23.  Find theivalue ofS:l% - 2.09.

Answer:
_—
24, A machine makes 30 buns in 4 minutes.
At this rate, how many buns can the machine make in 14 minutes?
Answer
_—
25,

Mrs Ong ﬁakes 180 strawberry tarts and 220 blueberry tarts.

What is tf;le ratio of the number of strawberry tarts to the total number
of tarts in its simplest form?

Answer:



Question 26 to 35 carry 2 marks each.

Show your working clearly in the space below each question and write
your answers in the space provided.

For questions which require units, give your answers in the units stated.

26.  Two wooden blocks and two iron biocks weigh 94 kg.

Each iron block weighs 7 kg more than each wooden block.
What is the weight of each wooden block?

Answer: kg

27. The figufe is made up of one square and fwo similar semicircles.

B and C is the centre of the circle respectively.

What is the perimeter of the figure? (Take = =27—2}

21cm

Answer: cm

28.  lIsabelis 'x years old. Her aunt is (x + 4) years older than her. Find her
aunt’s agiqe in 3 years time.
|

Answer years

10

éo



29,

30.

31

32.

In a school of 2000 pupils, 800 pupils are girls.

How many percent more boys than girls are there in the school?

Answer: %
—_

Kristen partncnpated in the Singapore Biathlon Competition. She used
1 g—h to cycie 20km ar-iran a distance of 10km at a speed of 15km/h.

What was her average speed for the whole journey?

Answer: knmvh

Find the value of 20p + 84 3p when p=7.

Answer:

Simplify the ratio 1.07 - 4 !

25

Answer:

11



33.  Petrol Station A offers a discount of 10% for its petrol.
Petrol Stati;on B offers a $2 discount for every $25 of petrol.

Find the difference in the discounted price if Mr Cheng pumps $100 of
petrol at edch station.

Answer: $
? L , 1 7 4
34. Arrangethcgse fractions in descending order; —. 57
Answer:
35.  Findthe vdlue of 10+ (14-4)x 64+ 4 + 4
%
: Answer:

[ End of Section B ]
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| ) Class: ps
— .

36.  For every handphone that Brian sells, he earns 5% of the selling price.
On top of that, he earns an extra $20 for every 5 handphones sold.

If Brian 'soid 7 handphones at $200 €ach, how much did he earn
altogether?

Answer: [3]

37.  The ratio of the base to the height of a right-angle triangle is y : 3.

The height of the right-angle triangle is 24 cm.

Find the area of the right-angle triangle in terms of V.

Answer: {3]

13



38.  In the figure below, PQRS, TUQV, WXRV, PUYW and TYXS are

straight lines. Find the value of r.

Answer;

[3]

39.  Alvin, Brenda and Cecilia shared the cost of a watch for their father
1

y) of Alvin'sé share is equal to —;— of Brenda’s share.

5 of Brenda’s share is equal to ?3% of Cecilia’s.

if Alvin paid j$200 more than Cecilia, how much did the watch cost?

Answer:

3]

14



40.

41,

The pie chart shows how Mrs Lim distributes her time
household chores daily.

in doing the

If she spends 10 more minutes during the faundry than cooking, how
many minutes does she spend on cooking?

Cleaning
30 mins

Answer: [3]
Mrs Wong bought some guavas at $0.65 each.

She also bought some starfruits at 5 for $2.55.

She then piacked 2 guavas and 3 starfruits into each packet.

If she could pack all the fruits into 15 such packets, how much did she
|
pay for the fruits altogether?

Answer: [4]

15



42.

A train néeds to pass through two tunneis.

Travelling at 10 m/s, the entire train takes 45 seconds to completely
pass through the first tunnel, which is 300 m long.

At the same speed. the train takes 38 seconds to completely pass
through the second tunnel.

How long is the second tunnel?

16

$q”



43.

A rectangular container has a base area of 750 cm?,

Saily poured S0me mango syrup into a rectan

3 full.
8

gular container untj it was

She then poured 11 21- / of water into the container untii it was

cdmplgtely fuil,

What is height of the rectangular container?

17



ey

Name:

44,

Jack was given an end-of-year bonus.

First, he

Next, he

Finally, h

a bag.

If he wag

18

donated % of the remaining bonus to a charity.

left with $110, how much was his bonus?

Answer:

Class: P6

gave haif of his bonus to his parents and $40 to his niece.

e spent % of his remaining bonus on some clothes and $10 on




45,

A rectangular tank with 4 solid metal cubes inside was filled with water
to its brim.

When the tap was turned on, water flowed out of the tank at a rate of
1.8 litres per minute.

it took 39 minutes for the height of the water level to drop to the top of
the solid nLetaI cube.

Find the vplume of all the metal cubes.

20 cm
v
4 > Am
78 cm
Answer;

19

[4]

-~



46.

Amy had a total of 204 red and blue beads in the ratio of 9: 8.

After shg gave away an equal number of each type of bead, the number
of red and blue beads left was in the ratio 9 : 5.

How many beads.did she give away altogether?

Answer: {4]

20




47.

The figure below is not drawn to scale.

ABF and| CDE are two identical equilateral triangies, each marked out

with 3 sim
BCEF is a

ilar segments.

square that is made up of 8 identical rectangles.

(a) Find the total perimeter of the shaded portion of K and J.
(b) Find the total unshaded area of the figure.
(Take|x = 3.14)

30cm

Answer: a) 2]

D)

S &)

21




48.  The ralio of the number of boys to the number of girls was 7 : 4.
261 bookmarks were given to the children o be shared so that each

boy received 3 bookmarks while each girl received 2 bookmarks.

a) |How many boys were there?
b) 66%% of the boys had decided to give % of their bookmarks to

—guof the girls to be shared out equally. What was the new

number of bookmarks each of these girls have after receiving
them from the boys?

Answer: a) [2]

Setters:
Adeline Khalik
Tan Ser Huay

Tan Kim Kiam .
Cheng Kim Hong [ End of Section C |

22




Primai

Raffles Girls’ Primary School
v 6 Maths Preliminary Exams (2006)

Answer Sheets
Q1 Q2 Q3 Q4 Q5
4 3 2 3 2
Q6 Q7 Qs Q9 Q10
3 2 3 2 3
Q11 Q12 Q13 Q14 Q15
2 3 3 2 4
16. 46099 21. 25000
1
17. 10 22. D
18. 4 23. 3.01
19. 0.25h 24, 105 buns
20. 343cm? 25. 9:20
22
26. |2 units + 2 units = 94kg g7, |2x— =1%
2x7 = 14kg (Iron block) =132+21+21+21+21+21
(94 - 14 )kg = 80kg = 216cm (Ans)
80kg ~ 4 = 20kg (Ans)
28, | Aunt = x+4+x 29. | 2000800 = 1200
= 2x+4 1200 -800 = 4900
= 2x+4+
2xtd+3 = 4—0% x 100%
= 2x + 7 (Ans) = 50% (Ans)
30. Total distance = 20+10=30 31. | 140 + 84 =21 = 144
Time distance = %% Lu's
= 1i + Eln‘s
15 15
30
Speed = s 32. | 1.07 : 4.28
= 15km/hours (Ans) 107 : 428
=1 : 4 (Ans)
Page 1 of 4




. 10 42 49 48

Petrol Station A = — x 160 = $10.00 =, =, =

33. 10b 34. 134 34 84

7 41
Petrol Station B = 25 x 100 +25 = 4 Ty B

4\x 2 = $8.00
$10.00 — $8.00 = $2.00
{Ans)

35. |10+ (14-4)x64+4+4 36. | Earns = 5%

5
10+10x64+4+4 = op X200 =10
10+ 160 + 4 THP =10x7 =170
= 174 (Ans) =70+20 =90

He earned $90.00 (Ans)

37. |B: H 38. | ZRXY = 180°-58°—42° = 80°
y:3 ZRXS = 180°—80° = 100°
3 units = 24 ZSRX = 180° ~100° —24° = 56°
lunit =24+3 =8 Zr = 180°—56° = 124°
y units = y x 8 = 8y Zr = 124° (Ans)

Area = —;— x 24 x 8y
= %6y
The area is 96yem’ (Ans)
L _ 30+10 = 40
39. |8-3=5 4. |y -
1 2
5 units = 200 7 4
2
= =40
lunit = 200+ 5 = 40 4
1 2, —_—
8+4+3 =15 2—4(3-‘2—20
15 units = 40x15 = 600
It costs $600.00 (Ans) She took 20 minutes (Ans)

41, |Guavas = 15x12 = 30 42. | Distance = 10x45 = 450
Starfruits = 15 x 3 = 45 450 — 300 = 150
Guavas = $(30 x 0/65) = $19.50 38 x 10 = 380

45 =5 = 9 2™ tunnel = 380 - 150 = 236
Starfruits = $(9 x 2.535) = $22.95 It is 230cm (Ans)
Total = $(19.50 + 2295 = $42.45
She spent $42.435 (Ans)
Page 2 of 4




L, = %,

3. | Ugt=~ 44. |2 units = 110 +10 = 120
= 11.28¢ Lunit = 1202 = 60
= 11250em? 18 units = 18x 60 = 1080
8§-3 =5 Bonus = 1080 +80=1160
5 units = 11250cm?® It was $1160.00 (Ans)
1 unit = 11250em® + 5 = 2250cm®
Sunits = 2250em® x 8 = 1800cm?
Height = 18000cm® + 750cm? = 24em
It is 24cm (Ans)
45. | Volume = 20x78 x50 = 78000cm? 46. Before After
1.8¢ = 1800c¢m? R:B R:B
Flow cut = 1800cm?® x 39 = 70200cm’? 9:8 9:5
Left = 7800{cm?® — 70200cm? = 7800cm? =18:16
78cm x 50em = 3900)cm? =27:24
Height = 7800cm® <+ 3900cm® = 2cm =36:32
Volume of 1 cube = 2x2x2 = 8cm® 36 +32=68
Volume of 4 cubes = 8|x 4 =32cm? 68 units = 204
The volume is 32cm® (Ans) funit =204 ~ 68 = 3
=36 -9 =27
27 units =27 x 3 = 81
Given away = 81 x 2 = 162
She gave away 162 beads. (Ans)
47a. | 3.14 x 30 = 94.2cm 48a. | Ne. of pupils Received
Itis 94.2cm B:G B:G
7 : 4 21 : 8
47b. | 3.14 x 15 x 15 = 706.5¢m? 7x3 =121 4x2=28
15x30 = 450cm? 21 + 8 =29

450 + 706.5 = 1156.5¢m?

Itis 1156.5cm? (Ans)

29 units = 261

1 unit =261+29 =9

21 units = 21 x 9 = 189
Boys = 189 + 3 = 63
There are 63 boys

Page 3 of 4




48b.

7 units = 63
lumnit =63 +7 =29
Girls = 4 units
= 4x9=236
= 66%% x 63
- 200 63
= 4200
- 200
100
Bookmarks (B) = 42 x 3 = 126
=2 x 126 = 84
3
=36 x LI 4
9
=84 +4 =121
Now (G) = 21 = 2 =|23
They now have 23 bookmarks. (Ans)

Page 4 of 4



